COMPUTER SCIENCE SSC-I

Total Marks Sections B and C: 42

Time allowed: 2:45 Hours

SECTION — B (Marks 22)

Q.2 Answer the following questions briefly. (11 x2=22) Sl g paida S ) g g 0
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(i) Who is a web developer? Which programming Briefly explain different types of interfaces of

language is used for creating websites?

Operating Systems.
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(if) EOW is the jgb of System Analyst different from a Identify the objectives of an operating system.
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(iii) | Compare “Absolute address” and “Relative address” Briefly explain the term “data transmission” with
in MS Excel. example.
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(iv) How does DSL work? What is meant by a communication device? Give
. 5 11 ¢ OR | examples. 1+1
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(v Identify the limitations of CLI interface. What will happen if the storage devices are removed
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(vi)  Differentiate between single user and multiuser How an Auto-Calculation feature in MS Excel helps
operating systems. o y 1+1  OR the user? ] 141
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(vii) i Compare Impact and Non-Impact printers. 141 OR Compare Radio waves and Microwaves. 3 141
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(viii | Differentiate between half duplex and full duplex Differentiate between LAN and WAN.
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(ix) | How Star topology provides a centralized, control Which malware is difficult to remove from a
over data transmission in a network? 2 OR computer and why? 141
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(x) i Which authentication method would be suitable for Suggest the best unguided media with following
an organization to ensure the provision of highly characteristics for an organization
secure identification and verification? Justify your High bandwidth 355 S
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(xi) . Write down the applications of Hybrid computers in How is Synchronous transmission mode better than
hospitals. ' R Asynchronous mode of communication? Comment. 141
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SECTION — C (Marks 20)
Attempt the following questions. (4 x 5=20) ot by S aWipw K
Q.3 | Explain the following types of system software with Describe the basic icons of Windows Operating
examples: system.
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Q.4  Write down the advantages of office automation What is a MODEM? Differentiate between
software. Write down the main uses of MS Word, Modulation and De-Modulation. Also draw a
MS Excel and Inpage. diagram to illustrate the process. 242
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Q.5 ;| Prove that a Wired network is better than Wireless Elaborate the term “Malicious Software”. Compare
network. 1x5 OR VIRUS and WORM in computers. 1+2
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Q.6 £ What is meant by network topology? Compare the Elaborate the role of Protocol in the data
advantages and limitations of most expensive and communication process. How does it manage the
the least expensive network topologies. other components of data communication process?
08 A S S e WS s sl S5 1:22 OR | Draw the diagram also. 3:2
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Q.2 Answer the following questions briefly. (11 x2=22) Gl gy paida S ) g 7 0
-ad
(i) Briefly describe Real time operating system with an
Briefly explain HPC and Cloud Computing. 1+1  OR examplg. o 141
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(ii) : Enlist the main characteristics of 3rd generation of State the role of Anti-Virus in a computer system.
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(iii) : What is meant by Conditional Formatting in MS Draw a diagram of components of a data 05
Excel? 2 OR | communication model. ‘4
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(v How does an operating system act as a “Resource How does Cache memory increase the processing
) i Manager”? speed of a computer system’7
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(vi) : Differentiate between RAM and ROM. 1+1  OR Why is plotter preferred over printer? Give reasons. 1+1
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(vii) | Write down any two uses of Inpage software. 1+1  OR Compare Infrared and Microwaves. 141
-0 OVleaial 90 s (S8 S g Gl e ) oS s 8 Hars 5 Saile sl Syl
(viii : Differentiate between attenuation and amplification. 1+1  OR How is Mesh Topology betterthaq otpertopologies’? 141
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(ix) : Briefly explain the satellite communication media ‘Multimodal Authentication provides highly secured
with a diagram. identification ~and verification  authentication
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(x) i How can a teacher view the names of only those If the baud rate is 56 Kbps and the number of bits
students in a class who obtained A+ grade? Which per signal is 2 bits. Calculate the data rate of
feature of MS Excel should be used? communication channel.
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(xi) | Suggest the best guided media with following An organization requires an interconnection
characteristics for an organization: between its two buildings in the same geographical
High bandwidth 553 A area. What type of network (LAN, MAN, WAN, PAN
High Transmission rate S Gl 5 b etc.) will.be better and why?
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SECTION — C (Marks 20)
Attempt the following questions. (4 x5 =20) o il g S V) g K
Q.3 . What are the basic operations of a computer? Elaborate any FIVE functions of an Operating
Explain in detail with diagram. System.
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Q.4 | How is the graphical representation of spreadsheet Compare Synchronous and Asynchronous modes
data helpful in organizational activities? Explaln of data transmission. Draw a diagram also. 2.5
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Q.5 Describe the following terms: Describe the term “Computer Architecture” in
a. Band width <35 Sy computer networks. Write down the advantages of
b. Baud rate e using Client-Server architecture over Peer-to-Peer
c. Datarate Sy, B3 1x5 OR | architecture. 1+2
d. Signal to noise ratio sy b g J8 oS sl S "ASEST " (e oS5 G Sl F2
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Q.6 How are Half Duplex and Full Duplex modes of Differentiate between Authentication and
communications useful in daily life? Explain with authorization. Briefly explain the authentication
suitable examples. 2.5 methodology that can be used on mobile phones.
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